16 GA. GALV. RESIDENTIAL 3" 20GA, STRUTS ATTACHED . i4GA. DURASAFE . 16 GA RESIDENTIAL
TOP ROLLER BRACKET W/ @ 1/4° x 3/4 2' 20GA, STRUTS ATTACHED CENTER HINGE ATTACHED e TOP FIXTURE ATTACHED W/
D e —f—ggéuﬂgggég"g%&ﬂ HEX HEAD SCREWS AT b A TRBLE Sy 1D SRACKET ATTACHED
e EACHHCENTERESTILE * HEX HEAD SCREWS W/ 174 % 1727 BOLT AND NUTS
— ADJUSTABLE ROLLER CARRIER [3\’
ATTACHED W/ (&) 1/4° x 1/2° o | = -
LU UGS 555, S 3¢ 20GA. STRUTS ATTACHED @ 3 x 20 GA, STRUT __~"| o S
W/ 2 1/4" x 3/4° = ON TOP SECTION '
HEX HEAD SCREWS AT ] %
EACH CENTER STILE 17
s {1 SPUCE TRACKS AT THIS LOCATION
 E— W/ (4) 1/4°-20 TRACK SPUCE BOLTS & NUTS
TYPICAL TOP FIXTURES .-/ 1_\-. a;gu;a ;rg JAMB WITH (3) 5/16" DIA. x 1-~5/8"
N.T.5.
N SEE PAGE 2 FIR DPTIONAL ~ RN e
STRUT AND STILE Lavour _TYPICAL DURASAFE CENTER HINGE( - ) -
_  SEE (TABLE 2) DN PAGE 3 FOR - N.T.S. N (1) 5/46" DIA. x 1=5/8"
RECOMMENDED SECTION CONFIGURATION 5) — (1) S D X Aeo/E e
i A AT EA. JAMB BRACKET
VYR N DBEATED TN HINGE MOLECS> £ 12 GA. GALY. STEEL
1 /// |l /// 1 /// 1! /// | T ON TOP SECTION DONLY L I JAME BRACKETS
o ———|[i : — ; CTOP> ATTACHED W/ (1) 1/4"=20
HOLES FOR STRUT END_HINGE — TRAGK SPUCE BOLT & NUT
2 3* 20GA, STRUT ATTACHED ATTACHMENT ] OR (2) RIVETS
W/ (@ 174" x 3/4° (STRUT NOT SHOWN |
HEX HEAD SCREWS AT L-+X FOR CLARITY) B
CENTER STILE o I
=~ z = E 2 |
THROUGH
QEeRmes (o 3 i .
! ! | o 3 % 20 GA. STRUTS —
FOR CLARITY A : Ao b | D (1) PER SECTION [ see crante 3 on pace 3
F C (o] SIDE FOR JAMB BRACKET SPACING
TYPICAL STILE STIF‘FENER( 5\1 — 2" » 20 GA. STRUTS TRACK CONFIGURATION FOR 6'6" UP TO 14’ TALL DOORS
! NTS. ' — <> ON BOTTOM OF ODD NTE
B NUMBERED SECTIDNS
l i (SECTIONS 1, 3, S AND
i A i :, N
SEE TABLE 4 DN PAGE 3 I I BOTTOM BRACKET
FOR STILE PLACEMENTS A CE CTABLE 1> DN PAGE 3 ATTACHED
v U "‘E"' ' . ! I'\_4 t) FOR STRUT SPACING ﬁéx(a)g,\’[{“sc;ée\é“ REV | DESCRPTION OF REVISIONS DATE  |BY
INSIDE ELEVATION
NS, A UPDATED BOTTOM BRACKET INFORMATION 06/10/05| oL
2* 20GA. STRUTS ATTACHED cc}q'r. STEEL RETAINER ADDED DAKSUMMIT AND GLAZING OPTIONS
HEX HEAD SCREWS- AT 14 GA. DURASAFE LA L TE T B |UPDATED NOTE 6 08/02/08| 0L
EACH END STILE END HINGE ATTACHED C |RENOVED TABLE 4, WOTE 7. 05/18/09] (Y
HEX HEAD SCREWS D |WND SPEED TABLE & TRACK COMFIGURATIONS 04/04/12| RR
2° 20GA. STRUT Tl A~A (S V ANGED CONFICURA
14GA. DURASAFE ATTACHED W/ e E | STRUT THN 03/01/13| AR
ROLLER CARRIERS ATTACHED @ 14 X 374 i i)
TO END STILE W/ (2 1/4° x 3/4° HEX HEAD SCREWS &3 £g
HEX HEAD SCREWS PER CARRIER AT END AND CENTER BOTTOM BRACKET 2a Sy, g =
3° 20GA. STRUTS ATTACHED AL 14 Gh. THICK ATTACHED E% 4=
HE%IHE?D lgg;ﬁ'sa f Jo— HEX HEAD SCREWS wis P %
i MAX SIZE E ~ =
EACH END STILE 2* 7 BALL STEEL X SIZE - 58
ROLLER W/5* STEM INTERIOR OF GARAGE 9 x i 44 Sg
. . — DESIGN LOADS g; Prrnsiafdforecnicciiiieceinsadioe. "s'u)‘
M WO 5O +26.7 PSF | 55 4 THOMASL SHELK g¢
TYPICAL DURASAFE END HINGE 316 PSF sg A A 5%
NTS. 3 ! e 32 N % s&2 3%
DESIGN LOADS | Gig (‘ ox:"-._/cENS .Q.&: T-E'g
(1) 5/16" DIA. x 1-5/8" 2 X 6 SYP OR SPF 2* 7 BALL STEEL j}ggg gg//"n SEE NOTE 2 TEST LOADS 2T YW '93[6 ------ .F.\\ \_'.- -33.
LAG BOLT ATTACHED TO JAMB (ND. 2 OR BETTER) ROLLER Wr5° STEM +40.1 PSF E£8 \ by NA‘;._ =5
AT EA. JAMB BRACKET —~ Z474 pSF 88 A ae
TYPICAL BOTTOM BRACKET (* 4 & TX &5
OPTIONAL STOP N.TS. =
MOLDING AN
20 GA CENTER STILE
s—\ SPECIFICATIONS AND NOTES
£ /
THE METHOD OF TESTING WAS IN SUBSTANTIAL L ALL THE LOAD FROM THE DOOR IS TRANSFERRED 10 THE VERTICAL TRACK,
/ j é / [l CONFORMANCE WITH THE PROCEDURE DESCRIBED N ASTM ﬁg: no.'i‘:lgom?i ﬁ; o;zoa;ium RE%R% NO PORTION OF THE LOAD 163 CARRIAGE CORRT VINSTON-SALEM, NC. 27103
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE AN ERRED RO T OO S MAXMUM DESGH LOADS OF: MODEL #650 OAK SUMMIT w/DuraSafe
20 GA. GALY. STEEL DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH +120.2 LBS/FT & =-142.2 LBS/FT MODEL #600 STRATFORD w/DuraSafe
END STLE 7/16" O, BOLT REANGR THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN e e e MODEL #950 HERITAGE w/DuraSafe
) PER ROLLER THE END ZONE, ROOF AT ANY SLOPE, AND |1=1.0): 4. DOOR SECTIONS SHALL BE 25 GA. MIN. (.019%) ROLLED FORMED LIGHT Short, Long, Flush & COak ‘Summit Panel's
1/4-20 x 5/8'TRACK COMMERCIAL QUALITY
SPLICE BOLT AND NUT 2" GALY. STEEL TRACK, WIND SPEED (MPH) | 130 | 118 | 112 [ 107 | 103 5, SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED SZ| DROMGBY DL | DATE 05/08/03 DRAWNG NUMBER
DR @ RIVETS TRACK THICKNESS .051 EXPOSURE LEVEL B c C o D BY A REGSTRED PROFESSIONAL ENGINEER FOR WIND LOADS RC-6009-130-15
TRACK MOUNTING DETA”_ ; - . . - INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS. B CHECKED BY AAE | DARE 05/%/03 ™
T MEAN ROOF HEIGHT | 30 15 25 | 15 25 P




GLAZING OPTION CROSS SECTION

GLAZING NOT_ AVAILABLE IN WIND-BORNE DEBRIS REGION
GLAZING MEETS ASTM E1300-04

DearaFrame WINDOW FRAME
WITH UV PROTECTION

iy

10) §8 X 3/4" PAN HEAD scnms
Z— . ‘“‘3“3/':”&“&3%"523‘%
AT t:.ﬁ\cu‘:a LONG PANEL WINDOW FRAME MOLDED INSIDE FRAME:

SECTION B—-B

OPTIONAL Decrao INSERTS
WiTH UV PROTECTION

IN. 3/32" THICK SSB
GL S8

18-1/8° ]
T *2 3 2
o] .
10-5/8° 10-5/87
2 2,
o> o2 ]

SHORT PANEL GLAZING FASTENER DETAIL

LONG PANEL GLAZING FASTENER DETAIL

N.T.S.

— NT.S,

174 X 374" HEX HEAD SCREWS AT END

A|A

n Y = I B \ 3* 20GA. STRUT LOCATED AT THE TOP
/// / / 2 OF GLAZED SECTIDN ATTACHED W/(@)

AND CENTER STILES

OPTIONAL SHORT PANEL GLAZED SECTION STRUT AND STILE LAYOUT

3' 20GA. STRUT LOCATED AT THE TOP
OF GLAZED SECTION ATTACHED W/(2)
1/4* X 3/4° HEX HEAD SCREWS AT END

AND CENTER STILES

OPTIONAL LONG PANEL GLAZED SECTION STRUT AND STILE LAYOUT

DOOR HEIGHT

VERTICAL LIFT

—-

L

AN

] | -

AVAILABLE TRACK CONFIGURATIONS

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X &6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE

5/16° X 3' LAG SCREWS STARTING 6" FROM ENDS THEN 24" OC. <1 :/2° EMBEDMENT)

2 X & VERTICAL JAMB ATTACHWMENT TO 2.000 PSI CONCRETE

HILTI KWIK BOLT 3/8° X 4" STARTING 6° FROM ENDS THEN 24° O.C. (2 1/2" EMBEDMENT>

HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING & FROM ENDS THEN 24° OC. <1 1/4° EMBEDMENT>

ITW/RAMSET REDHEAD <TRU-BOLT> 3/8° X 4° STARTING 6° FROM ENDS THEN 24° OC. <2 1/
X

2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK

SIMPSON 1/4° X 3’ TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS
(3* APARTY AT 24° O.C. <1 1/2* EMBEDMENT>

HILTI 1/4° X 2-3/4° KWIK-CON II+ SCREWS STARTING &° FROM ENDS. USE PAIRS OF
FASTENERS (3" APART)> AT 24 OC. (1 1/4" EMBEDMENT?

2 X 6 VERTICAL JAME ATTACHMENT TO GROUTED C-90 BLOCK (2000 PSI _GROUT>
HILTI SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 6" FROM ENDS THEN 24 OC. 1 1/4°
EMBEDMENT) (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

®¥LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wOOD JAMBS BY OTHERS

L] 1

2° EMBEDMENT>

1
HOLLOW BLOCK

L]
WD CONCRETE
) |STRUCTURE STRUCTURE STRUCTURE el s
g _ : ;
W
o | 1 1 \ [ 1 L
g =] = —<{C ]
== d i
172° MIN 2-3/4° MIN 17172 |MIN &
2X6 JAMB
TP,

3" MIN

HIGH UFT
STANDARD LIFT
LOW HEADROOM

REV | DESCRIPTION OF REVISIONS

DAIE  BY

UPDATED BOTTOM BRACKET INFORMATION

ADDED OAKSUMMIT AND GLAZING OPTIONS

08/10/05| Dk

UPDATED NOTE &

09/02/08[ DL

REMOVED TABLE 4, NOTE 7.

05/18/08( cBI

WD SPEED TABLE & TRACK CORFIGURATIONS 04/04/12| RIR

me|lo|c]| =

CHANGED STRUT CONFIGURATION

/0113 | RR

MAX SIZE

9" x 14
DESIGN LOADS

+26.7 PSF

—31.6 PSF

TEST LOADS
+40.1 PSF
~47.4 PSF

Thomas L. Shelmerdine, PE {TX PE #85829}
Structural Solutions, PA {TX Firm HF-D04063)

—
>x

W OE";"CENSEQ-"\{O '
W fIONA\.E“

q.'\'\\\\

DEHR AN

A TS,

5921-G W. Friendly Ave., Greensboro}NC 27410

dba Structural Solutions of North Caolina, Inc.

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105

MODEL #600 STRATFORD

N.T.S.

MODEL #9250 HERITAGE w,

MODEL #650 OAK SUMMIT w/DuraSafe

w/DuraSafe
/DuraSafe

Short, Long, Flush & Oak Summit Panel's

SZE| oRAWNBY DL | DATE 05/08/03

DRAWING NUMBER

B | oecesr ame| DA 05/08/03

IRC-6009-130-15

SHEET 2 OF 3




TABLE 1 TABLE 2
DOOR SECTION HEIGHTS
DOOR STRUT SPACING (BASED ON RECOMMENDED SECTION CONFIGURATION) TOP HEIGHT [Btm | #2 | #3 [ #4 | #5 | #6 | #7 | #8
HEIGHT| A B C D E F G H | J K T 140" | 21" [ 21" [ 21" [ 21" [ 21" [ 21" | 21" | 21"
66" |63/4"|16 1/4"|36 1/4" |43 1/2" |54 1/4" 76 172" 36 212 2 12 [ 2" [ 1g | 48" | 21"
7" |6 3/4"[18 174" |39 1/4" |46 1/2" |60 1/4" 82 1/2" 3o 32 [ 21 Lie e [ |48 [ 21
76" |6 3/4"|15 1/4"|33 1/4" |40 172" |51 1/4" |69 1/4" |76 1/2" 88 172" e o Te e e s e ie [ 2
8 |6 3/4"|18 1/4" |36 1/4" |43 1/2" |54 114" |72 1/4° {79 1/2" 94 1/2" o Tar o [ o 13T e |20
86" |6 3/4" |18 1/4"|39 1/4" |46 1/2" |60 1/4"[78 1/4" |85 172" 100 1/2" T LI T ET O R AR T
9 |6 3/4" |15 1/4"| 33 1/4" |40 1/2"|51 1/4" |69 1/4" |76 1/2"| 87 1/4" 106 1/2" _— OO TS el s LA A
T 6 |6 314" |18 /4|36 /4" |43 11254 14|72 1/A"[79 1/2"] 90 14" T2 172" (ARG ol Ol
706 3/4" |18 1/4"|39 1/4"|46 172" |60 1/4" |78 1/4"| 85 1/2°| 96 1/4" 118 112" 106" j21"]21") 21° [ 217 | 21" ) 21
106" |6 3/4"|18 1/4" |39 1/4" |46 1/2" |60 1/4" |81 1/4" |88 1/2"| 102 1/4" 124 112" 100" |21"|21") 21" | 18") 18" ] 21"
11 |6 3/4" |18 1/4"| 36 1/4" |43 172" |54 1/4"[ 72 1/4"|79 1/2"| 90 1/4" |108 1/4"[115 1/2" 130 1/2" 96" j21"|18"[18"| 18" [ 18" | 21"
116" |6 3/4"|18 1/4"| 39 1/4" |46 1/2"|B0 1/4"| 78 1/4" |85 1/2"| 96 1/4" |114 1/4"[121 1/2" 136 172" 90" |18"|18"| 18" | 18"| 18" | 18"
12" |6 3/4"|18 1/4" |30 1/4" |46 1/2" |60 1/4" |81 1/4" |88 1/2"[102 1/4" | 120 1/4" | 127 172" 142 1/2" 86" |21"| 24" [ 217 18" | 21"
126" |6 3/4"| 18 1/4"| 36 1/4" |43 172" |54 1/4" | 72 1/4"|79 1/2"| 90 174" | 108 1/4" |115 1/2"|126 1/4"|148 1/2" 80" [21"| 18" | 18" [ 18" | 21"
13" |6 3/4"| 18 1/4" |39 1/4" |46 1/2" |60 1/4" |72 1/4" |79 1/2"| 90 1/4” [ 108 1/4" [115 1/2" | 126 1/4"|154 1/2" 75 |18 18" 18" | 18" | 18"
136" |6 3/4" |18 1/4" |39 1/4" |46 1/2"|60 1/4" |81 1/4" |88 1/2" [102 1/4" [ 120 1/4" [127 1/2"|138 1/4"[160 1/2" =0 121" 29" [ 29" | 21"
14 |6 374" |16 174" | 39 1/4" |46 172" |60 174" |81 1/4" |88 1/2"|102 1/4"| 123 1/4"|130 1/2"| 144 1/4"[166 1/2" 55 Tar e e (21
TABLE 3 TABLE 4 eV AESCER T IE SR T
DOOR TRACK ATTACHMENT SPLICE . . .| Max Design Loads VPOATED BOTTON BRACKET WFORMATION
HEGHT[A| B CIDIEJTF ] G| S Section panel Type m’::srfr;';eﬁf’nﬁai:’; Allowed A 10 Dt 0 e 0 :ﬁﬁ z
66" [10"]38"[58 70" Width Edge) Positive | Negitive e &l T
7 {10"] 38" [ 58" 76" i) (PSF) | (PSF) D WAD SPEED TABLE & TRACK CORPIGURATIONS | 04/04/12] R
76" | 4"]28"|52"| 76" 82" 80 |Short, Oak Summit 48.000 299 354 E_[CHAKGD SRUT CONFRRATON L] KL
8 |10"] 34" | 58" | 82" 88" 80 Long 48.000 29.9 35.4 73 e .
8'6" |4"[28"|52"| 76" 94" 8 2 [Short, Oak Summit 49.000 29.3 34.7 §§ P ?@.9.'.’.15}\\ 3=
9 |10"] 34" [ 58" | 82" 100" 82 Long 49.000 203 | 347 Mpx size | EE £ o 5
96" |4"[28"]52"] 76" [100" 106" 84 |Short, Oak Summit 50.000 28.7 34.0 DES,G; Loav 35 Fxl\ =55 =
10'  110"[ 34" [ 58" | 82" 106" 112" 84 Long 50.000 28.7 34.0 +267 PSE | Bs Al MASLS“ELH% ]
106" | 4" | 26" | 52" | 76" [100" 118" & 6 |Short, Oak Summit 51.000 281 | 33.3 ' B2 W oooel X7
11" [10"| 34" | 58" | 82" [106" 124" 86 Long 51.000 28.1 33.3 U=l 58 “\ffé‘ia,;,xc'éiff-’ 5
116" | 4" | 28" [ 52" 76" [100"[124" 130" 8 8 |Short, Oak Summit 52.000 27.6 32.7 —47.a PSF | EZ X el e
12 110"[ 34" | 58" | 82" [106"[130" 136" 88 Long 52.000 276 32.7 -
12%6" [ 4" | 28" [ 52" | 76" [100"[124" 142" 8 10{Short, Oak Summit 53.000 27.1 32.0
13 107] 34" | 58" | 82" [106"| 130" 148" 810 Long 53.000 271 32.0 165 CARRIAG NC. 27105
136" | 4" | 28" | 52° | 76" |100"|124"|148"| 154" 90 |Short, Oak Summit 54.000 %7 | 316 T O e
14" [10"| 34" | 58" | 82" |106"[130"|154"] 160" 90 Long 54.000 26.7 316 MODEL #6800 STRATFORD w/DuraSafe
MODEL #950 HERITAGE w/DuraSafe
ALL TRACK ATTACHMENT SPACING +/-2 ALLOWED WITH SYP OR SPF NO. 2 OR BETTER OMLY Short, Long, Flush & Oak Summit Panel's
QE[ ORAW BY DL | DATE 05/08/03 DRAMNG MUNBER
B oo br M| DA 05708703 IRC-6009-130-15
SHEET 3 OF 3




